ECN 3890

Spring 2007
Review Questions Exam 3
Make sure that you look at homework questions also.
Chapter 6

Questions from end of chapter: 3

Predict the impact of each of the following on the wage rate and level of employment in labor market X:

a. An increase in the demand for labor and an increase in the supply of labor in labor market X

b. An increase in the minimum wage that pushes the wage above the equilibrium wage.
Show how the minimum wage creates unemployment in a perfectly competitive labor market.  Summarize the empirical evidence regarding the impact of the minimum wage on employment.

Discuss the impact of the minimum wage when there are two sectors in the economy, the covered sector (which is subject to the minimum wage) and the uncovered sector (which is not).

Suppose that the demand and supply curves of labor in a competitive labor market can be given by:

Ls = 10 + w

Ld = 40 – 4w.

What is the equilibrium wage and level of employment?  Suppose that the government institutes a minimum wage of $8.  How many workers would lose their jobs?  How many additional workers would want a job at the minimum wage?  How large would the surplus of workers be?

In the early 1970s, Egypt experienced a large outflow of construction workers seeking higher wages in Saudi Arabia.  At the same time, the demand for labor rose in Egypt.  Graphically represent these two shifts in supply and demand and then use the graph to predict the impact of these changes on wages and the level of employment in Egypt during this period.

Chapter 7

Question from end of chapter: 7

Major league baseball teams scout and hire younger players whom they train in the minor leagues for a period of 3 to 5 years.  Very few of the trainees actually make it to the major leagues, but if they do they are bound to the team that owns their contract for a period of 6 years.  After 6 years, the player becomes a "free agent" and can choose any team to play on.  Keeping in mind that major league teams pay the cost of, but derive no revenues from, their minor league teams, what would be the most predictable effects of allowing players to become free agents immediately upon their entry into the major leagues?  Explain.  (Hint:  What kind of training is this?)

A firm is considering hiring a worker and providing the worker with general training.  The training costs $1,000 and the worker's MRPL during the training period is $3,000.  If the worker can costlessly move to another employer after training and that employer will pay a wage equal to the worker's new MRPL (after training), how much will the firm pay the worker during the training period?  Explain.

A firm expects to hire workers for three periods.  The interest rate is constant at 6 percent.  In the current period, the firm incurs training costs of $500 per worker.  Suppose that the worker's MRPL is $1,800 during training and then rises to $2,500 in the second period and $2,800 during the third period.  If the firm pays a wage of $1,600 during the training period, $2,200 during the second year, and $2,600 during the third year, will the firm recover its training costs on a present value basis?  Can this pay schedule persist over time?  Explain.

It has been argued that the minimum wage discourages firms from providing general and specific training to its employees.  Why is this so?

Chapter 9

Questions from end of chapter: 2, 7

In Becker's taste for discrimination model, what is the meaning of the discrimination coefficient (d)?  Suppose we modeled the discrimination coefficient using a monetary value where the wage of brunettes, WBR = WBL + d.  If the monetary value of d is $3, will that employer hire blonde or brunette workers if their wages are $8 and $10 respectively (and the employer has a preference for hiring brunette workers)?  Explain.  What effect would a decrease in the supply of blonde workers have on the blonde-brunette relative wage and the employment of blonde workers?  Show using a graph.

What is statistical discrimination and why does it occur?

Explain the following statement: "In the taste-for-discrimination model, discrimination is practiced even though it is costly to do so.  In the statistical discrimination model, it is clear that discrimination pays."

Assume that the occupation distribution of males and females is as follows:

	Occupation
	Male
	Female

	E
	60%
	5%

	F
	20
	5%

	G
	10
	40%

	H
	10
	50%


Calculate the Duncan index and explain its meaning.  Compare the meaning of an index of 0.40 with indexes of 0.0 and 1.0.

It has been said that the market is the "best friend of any group against which there is a prejudice on the part of many members of a society."  What reasons would you give as an economist to support this assertion?

Debates over the extent of racial and/or gender discrimination often hinge on the set of explanatory characteristics included in estimated wage equations.  Discuss the possible errors that are introduced by misspecification of this set of characteristics.  What criteria would you use to select those variables that should be included?

Assume that there is a central city school district in which the student population is predominantly black.  Surrounding the central city are predominantly white suburban school districts.  Together the central city and suburban school districts can be thought of as a local labor market for teachers.  Other things being equal, black teachers in this labor market are equally willing to work in the central city and suburban schools, but white teachers are reluctant to accept jobs in the central city.  There are too few black teachers to staff central city schools and teachers generally have choices in the jobs they accept.  If federal law requires equal salaries for teachers of all races within a given school district, but allows salaries to vary across school districts, will black teachers earn more, less, or the same salary as they would if white teachers were not prejudiced?  Explain.  (Note: Assume that the prejudice on the part of white teachers only extends to black students, not to working with black teachers.)

